Parts Information:
s E A LEY Chainsaw Blade Sharpener - Quick
Locating 85W

Model No: SMS2002C

5 6 1 § 9 10 11 12 13 14 15 16 17 18

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

LIE 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10f 2 SMS2002C Issue 2 PL 15/12/17




Parts Information:
EA LE Chainsaw Blade Sharpener - Quick
Locating 85W

Model No: SMS2002C

Item | Part No. Description Item | Part No. Description
1| sms2002c.01 TAPPING SCREW (M4x12) 32 | SMS2002C.32 TORSION SPRING
2 | sMs2002C.02 BACK COVER 33 | SMs2002C.33 ROLL PIN
3 | SMS2002€.03 TAPPING SCREW (M3x16) 34 | SMS2002C.34 BASE
4 | SMS2002C.04 PRESSURE PANEL 35 | SMs2002C.35 DRAW LINE
5 | SMS2002C.05 INDUCTANCE 36 | SMS2002C.36 TAPPING SCREW (M6x22)
6 | SMS2002C.06 CIRCUIT BOARD 37 | sMs2002¢.37 CUSHION
7 | sMs2002c.07 MOTOR 38 | SMsS2002C.38 STEEL TUBE (6x10x9.3)
8 | SMS2002C.08 BRAKE HANDLE 39 | SMs2002C.39 CHAIN STOP
9 | SMS2002€.09 ROUND HANDLE 40 | SMS2002C.40 SWING ARM 7"
10 | SMS2002C10 DOWN VALVES 41 | SMS2002C.41 CUSHION
| SMs2002C11 SWITCH COVER 42 | SMs2002C.42 SCREW (M6x55)
12 | sMs2002c12 CUSHION 43 | sNes STEEL NUT M6 ZINC DIN934 (SINGLE)
13 | SMS2002C13 LOCK BOLT (M8x85) 44 | sMs2002C.44 VICE BASE
14 | SMS2002C14 NUT 45 | SNesS STEEL NUT M6 ZINC DIN934 (SINGLE)
15 | SMS2002C15 MOTOR COVER 46 | SMS2002C.46 TAPPING SCREW (M5x8)
16 | SMS2002C16 GRINDING WHEEL 47 | sMs2002c.47 WASHER
17 | sMs2002¢.17 TAPPING SCREW (M5x14) 48 | SMs2002C.48 INNER CLAMPING PLATE
18 | SMS2002C18 VALVE 49 | SMS2002C.49 CHAIN WHEEL
19 | SMS2002C19 GRINDING WHEEL COVER 50 | SMS2002C.50 OUTER CLAMPING PLATE
20 | SMS2002C.20 TAPPING SCREW (M4x10) 51 | SMS2002C.51 TRANSMISSION SHAFT
21 | SN8sS STEEL NUT M8 ZINC DIN934 (SINGLE) 52 | sMs2002c.52 TAPPING SCREW (M6x20)
22 | SN4s STEEL NUT M4 ZINC DIN934 (SINGLE) 53 | SMs2002C.53 ANGLE ADJUSTING KNOB (M8)
23 | SMs2002c.23 SPRING WASHER (4mm) 54 | SMS2002C.54 INNER/OUTER PANEL
24 | swmas SPRING WASHER M4 (SINGLE) 55 | SMS2002C.54 INNER/OUTER PANEL
25 | Msc4i4s CSK PHILLIPS MACHINE SCREW M4x14 56 | SMS2002C.56 SPRING
(SINGLE) 57 | SMS2002C.57 CENTRAL PIN (2.5x19)
26 | SMS2002C.26 GAUGE COVER 58 | Swm6.sB SPRING WASHER M6 BLACK(SINGLE)
27 | SMs2002C.27 FUSE SHEATH (INNER) 59 | sMS2002C.59 BOLT (M&xd)
28 | SMs2002C.28 FUSE 60 | SMS2002C.60 SNAP RING
29 | SMS2002C.29 FUSE SHEATH (OUTER) ~ | sMs2002¢.61 DRAW SPRING (NOT SHOWN)
30 | SMS2002C.30 POWER CORD ~ | sms2002c.8 BLADE for SMS2002C (NOT SHOWN)
31 | SMS2002C.31 SNAP RING

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2 SMS2002C Issue 2 PL 15/12/17




